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Question	1

Determine	the	limit	by	substitution.		lim$→&  ()* + 5)& − 7) + 1)A. 29B. 0C. Does not existD. 15



Question	2

Determine	the	limit	if	it	exists.		lim$→?  $@?($A?)BA. −6B. 0C. 6D. Does not exist



Question	3

Find	the	limit,	if	it	exists.	lim$→D  $E@F&$BAG$G$A. −1B. 5C. 0D. Does not exist



Question	4

Find	the	limit,	if	it	exists.	 lim$→?H  F($A?)BA. ∞B. −∞C. 0D. −1



Question	5

Determine	the	limit	graphically,	if	it	exists	 lim$→&J  K())A. 4B. 2C. 1D. −1



Question	6

K ) =  N F$@F ,  KPQ ) > −1)& − 3),  KPQ ) ≤ −1 lim$→AFH  K())
A. 4B. −4C. 0D. Does not exist



Question	7

K ) =  N F$@F ,  KPQ ) > −1)& − 3),  KPQ ) ≤ −1 lim$→AF  K())
A. 4B. −4C. 0D. Does not exist
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Question	8

lim$→& $BAU$B@UA. 1B. − F&C. 0D. −1



Question	9

What	is	the	value	of	the	limit	lim$→D $BA$A&$BA&$A. −2B. Does not existC. 1D. −∞



Question	10

Find	the	limit	 lim$→A&  F$@&A. Does not existB. −∞
C. F&D. ∞
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Question	1

Classify	each	statement	as	either	true	or	false
a.) If	lim$→& ' ( = 9 ,ℎ./ lim$→& ' ( = 3 

i. True
ii. False

b.) If	lim$→1 2 ( = 5 ,ℎ./ lim$→1 2 (  & = 10 
i. True
ii. False

c.) If	lim$→6 ' ( = 7 ,ℎ./ lim$→6 8 . ' ( = 78 
i. True
ii. False



Question	2

Suppose	that	lim$→6 ' ( = 5 :/; lim$→6 2 ( = −2 .		Find	the	lim$→6(' ( + 32(()) A. 3B. 7C. − DED. −1



Question	3

Suppose	that	lim$→6 ' ( = 5 :/; lim$→6 2 ( = −2 .		Find	the	lim$→6 (' (  A. 1B. 9C. 5D. 20



Question	4

Suppose	that	lim$→6 ' ( = 5 :/; lim$→6 2 ( = −2 .		Find	the	lim$→6(2 ( )& A. 25B. −47C. −8D. 4



Question	5

lim$→I& 2(& − 1(& + 1A. JEB. − JEC. 0D. Does not exist



Question	6

What	is	the	limit	 lim$→I& (& − ( − 2(& − 2(  
A. 1&B. − 1&C. 0D. Does not exist



Question	7

lim$→IQ(2(&+4( + 1) Type equation here.A. 7B. −3C. 0D. 3
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Question	8

Use	the	limit	rules	to	find	lim$→& &Z$I$ &$A. 2 2
B. − &6C. Does not existD. 1 − 2



Question	9

Use	the	limit	rules	and	evaluate	the	limit,	if	it	exists,		lim$→E $IEI&$I[   
A. − 1&B. 0C. 1&
D.			Does not exist



Question	10

Use	the	limit	rules	to	find	lim$→\ $]ID$Z^$I&A. 0B. 4
C. −4D. Does not exist
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Question	1

What	is	 lim$→& '$(' ?A. −∞B. −1C. ∞D. 0



Question	2

What	is	 lim$→& 2345$6 ?A. 2.56
B. −∞C. ∞D. 0



Question	3

What	is	 lim$→&(2: − 7:<) ?A. 0B. ∞C. −∞
D. 5>



Question	4

lim$→& 3: − 75:@ − 8: + 12 =
A. <3B. 3C. ∞D. 0



Question	5

lim$→4& 3$6(5>5D$E('D$(F is:A. −∞B. −1C. 0D. 3



Question	6

Evaluate	the	indicated	limit		 lim$→3G '34$ A. ∞B. 0C. −∞D. '3



Question	7

Find	the	horizontal	asymotote of	the	function		 '$(> from	this	part	of	its	graphA. −7B. 0C. −17D. Does not exist



Question	8

Evaluate	the	limit		 lim$→4& 2:5 + 32: + 3A. − 55B. 2C. 0D. ∞
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Question	9

lim$→&( 2:5 − 5 − :5 − 10) =A. 0B. +∞C. −∞D. None is correct



Question	10

lim$→4&(4:5 + 3: − 10)  A. ∞B. −∞C. 0
D.		−10
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Question	1

Indicate	whether	the	following	function	is	continuous	or	discontinuous.A. ContinuousB. Discontinuous



Question	2

In	order	for	a	function	to	be	continuous	at	a	point,	which	of	the	following	conditions	must	be	
true?

A. The	limits	has	to	exist

B. The	limits	has	to	be	equal	to	the	value	of	the	funcFon

C. A	&	B

D. None	of	the	above.



Question	3

lim/→1 2 3  5678 96: 73;8:A. TrueB. False



Question	4

lim/→A 2 3  5678 96: 73;8:A. TrueB. False



Question	5

lim/→B 2 ;8A. −1B. 2C. 1D. 6



Question	6

Where	is	2(3) discontinuous?A. x = −2B. x = 0 and x = 5C. x = 1  and x = 4D. x = 7



Question	7

For	which	of	the	following	graphs	does		lim/→P 2(3) exist.

A. I onlyB. II onlyC. I and II onlyD. I and III only



Question	8

The	following	statement	lim/→S 23 =  2 is:A. TrueB. False
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Question	9

What	is		 lim/→1 31 − 3 − 231 − 23 	?

A. 0B. 1C. ∞D. U1



Question	10

Is	the	function	2 continuous	at	3 = V ?	If	not	why?	2 3 = A/WA        V = 0A. f is continuous at x = 0B. f 0 is deYined but lim[→\ f x does not existC. f 0 is deYined but lim[→\ f x exists but these two numbers are not equal
D.			f 0 is not deYined
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Question	1

At	! = 0 lim'→)* + ! = 1
A. FalseB. True



Question	2

Find	 lim'→7* + !
A. 0B. 2C. 1D. Does not exist



Question	3

lim'→@AB + ! = 1A. TrueB. False



Question	4

lim'→A + ! = 0A. FalseB. True



Question	5

f x = D2 − x,  x ≤ 1x2 + 1,  x > 1
What	is	the	value	of	 lim'→A* +(!)?A. L7B. M7C. 1D. 0



Question	6

f x = D2 − x,  x ≤ 1x2 + 1,  x > 1
What	is	the	value	of	f(1)?A. L7B. M7C. 1D. 0



Question	7

lim'→N* +(!) , OℎQRQ + ! = S!7 + 4  +UR ! ≠ 40           +UR ! = 4A. 20B. 0C. 16D. 12
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Question	8

Find	 lim'→@A* +!  
A. 3 A7B. 3C. Does not existD. 4



Question	9

lim'→)* + ! = lim'→)B + !
A. FalseB. True



Question	10

lim'→Y* +(!) , OℎQRQ + ! = S−4! − 3  +UR ! < 65! − 2    +UR ! ≥ 6A. 28B. −27C. −2D. −1
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Question	1

The	following	function	is	continuous
at		(0, 4)A. FalseB. True



Question	2

Which	of	the	following	is	not	a	property	of	continuous	functions?A. lim3→5 f x = f(a)B. lim3→5 f a is	definedC. lim3→5 f x existsD. All of the above three are properties of continuous functions



Question	3

The	given	function	is	continuous	on	the	given	intervalD E = F 4E − 2   E < −13      − 1 ≤ E  MN (−3, −2)
A. TrueB. False



Question	4

Which	of	the	following	points	is	not	a	point	of	discontinuity	of	 D E = E − 1?A. x = −1B. x = OPC. x = 1D. x = 0



Question	5

Which	of	the	following	statements	about	this	function	is	not	trueD E = Q2E                 0 < E < 11                         E = 1−E + 3         1 < E < 2A. f I  does not existB. lim3→UV f(x)  existsC. lim3→PW f(x)  existsD. lim3→O f(x)  exists



Question	6

Find	the	intervals	on	which	the	function	is	continuous	D E = Q− XP − YP           ,      E ≤ 0−EP + 2E − 2  ,   E > 0A. (−∞, 0], (0, ∞)B. −∞, 0 , [0, ∞)C. All real numberesD. f x is not continuous



Question	7

Find	the	intervals	on	which	the	function	is	continuous.D E = Q EP + 2E + 1    E < 1− E2                      E ≥ 1
A. −∞, 1 , [1, ∞)B. −∞, 1 , (1, ∞)C. All real numberesD. f x is not continuous
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Question	8

Find		the	intervals	on	which	the	function	is	continuous	D E = YX_OX`_aXA. −∞, OY , (OY , ∞)B. −∞, −2 , −2, 0 , 0, 2 , (2, ∞)C. −∞, −2 , −2, 2 , (2, ∞)D. −∞, 0 , (0, ∞)



Question	9

Which	of	the	following	statements	is	true	about	the	given	function?A. FalseB. True



Question	10

Find	the	domain	of	the	given	function.	D E = OX_bA. The domain of f is all reall numbers − {3}B. The domain is all real numbersC. The domain is all reall numbers − {Ob}D. The domain is (3, ∞)


